A al = £ %
=3 ES i = =3
% E(3ELHEBYRELS B Y I BTREERSHRELESE
% | =4 ELEDIR 22
5 AT |EUTEEmEO47145H (BUTRFTERS2E) |B 17 8 (60 AR
¥ ¥ X Hpase AR XR D memean
A A B B|SFSE9AIE  9E30% i3 H|EZE S & Lo (FERAE) 2 FHHEE
a6 m WOBRENRER T 2 A|[RWRERE
yoEmo® ¥952,000
REHEE R _
A A - 2
No. (EER RSN = 1[m 22 £ 3Mm & g
1] ) cuvEmia ¥931,000
2| (%) NHESIE ¥805,000
3locsrox -
4| ) neER B8
5 |EXREFHR (¥ ¥898,000
6| (&) leEr—a—px B8
7| (B LwOofEsH ¥378,000 %A
8| (B) BREWH ¥959,000
9| (%) #TIFEH ¥800,000
10 (EHFESK (KR ¥840,000
M|=EBER (B) ¥772,000
12|m@rE ) ¥770,000
13
14
15
16
17
18
19
20




